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Section A: Multi’plé Choice Questions (60 marks)

For each question from 1 to 30, four options are given. One of them is the

most suitable answer. Make your choice (1, 2, 3 or 4) on the Optical Answer
Sheet. '

1. The table below shows some living things and how they are grouped.

Living Things

Which one of the following is the most stitable heading for Groilp X?

{1) bacteria
(2) fungi
(3) insects
(4) mammals
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2. Below are shown four living things.

Four students are asked to choose the odd one out and state.a reason for

their choice. The table below shows their answers.

- Student Living thing Reason
Gary Bat It gives birth to its young alive but the
. . rest lay eggs for reproduction. .
Henry - Crocodile It cannot fly but the rest can fly.
Jimmy . ‘Dragonfly It is an insect but the rest are not
B insects.
Tony Oowl. It is a plant eater but the rest are
animal eater.

, Which group of students have given the (_;orr_ect reason for their choice?

(1)  Gary and Henry only

(2) Henry and Jimmy only

(3)  Gary, Henry and Jimmy only
- (4)  Gary, Henry, Jimmy and Tony

3. The; following diagram shows thediflferént-orgéns of a human system.

B

c D

Which one of the followmg Shows the correct path our food takes during

dlgestton‘? _

(1) CS>B>D>A
2 C>D>BA
(3 C>B>A>D
4 C>A>B>D

CHISCIPAISA212010




Which one of the following is the function of aleaf on a plant?

(1)-  holds the plant upright

(2) . makes food

(3) takes in mineral salts
“(4)  takes in water

Stephanie grows a small plant in a glass container She setsupthe °
experiment as shown below :

Glass container
i Wet s0il
goaREst— Wire gauze
. Dry soil

'After a few days she observed that the roots of the plant had shown some
movement as shown below.

Glass container

Wet soil
Wire gauze

£. Dry _soil

: Whaf does this tells us about the charaotenstlcs of plants?

' (1) Roots move up to recelve ltght
(2)  Roots move in search of water.
(3)  Roots respond towards water and light.
{4) Al paris of plants always move upwards
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6. Nora studied the diagram of the digestivé system as shown below. She
made a table to list the functions of the parts labelled W, X, Y and Z. -

Which part of the digestive system W, X, Y or Z, has the incorrect

function?
Part of the digestive
system : . - Function_
) w o A muscular tube which pushes
: ‘the food that has been
swallowed into the stomach.
(2 X Absorbs digested food.
3) Y Removes water from undlgested
- jfood.. . :
4) Z : Stores undigested food
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7. The diagram below shows
: stages P and Q.

the growth of a young plant with two-missing

—— R

1 {1) o _
e

_l(3):'_'-‘"

'-'(4)’
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Study the concept map below.

" Feeds on plants only

Moves around and
~eals .

Grows and moults
several times

7 is probably the young of a

(1

Looks like its parents
in many ways
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Susan conducted an experiment to find out whether the amount.of water
will affect the growth of seeds. She placed a few seeds in each of the four
. containers.

The table below shows ttie amount of water Susan used to water the -

“plants each day. It also.shows which contamers received air and sunilght.

Container

Sunlight

Armount of Adr
water (ml)
5ml v v -
B 10.mi VA v
—C Sml v X
D 15 ml X v

thch containers should she use if she wants to find out whether the
amount of water will affect the growth of seeds?

(1) __C_c_mtaitiers Aand B
(2) Containers Aand C

(3) ContainersBand C
(4) Containers Band D

10. - The'diagram below shiows the fife cycle of an animal.

I

adult | nymph

Which animal is most likely to have a life cycle as shown above?

egg

(1)  beetle
(2) chicken
(3) butterfly

(4)  cockroach

CHISCIPA[SAZI2010




~1f.  Nathan can:easily scratch a wooden stick with an iron nail.

Wooden stick

Iron natl

This shows that the iron.nait is L .ihan the wooden stick.

(1) harder

(2)  heavier - -
(3) stronger
(4) more flexible

42, Study the classiﬁcétion table below. It shows how some objects are.
) grouped according to what material they are made from.

Materials
. I 3 _
ﬁ | T L
Metal | ‘Wood | | Glass Fabric
| -Flagpole Bench | Flower vase Pants
A . Table | B | Socks

Based on the above classification, what are objects A and B most likely to
be? . . ’

. A . B

[4)] - Cup Eraser

(2) Window grill Window pane

(3) Chair : Shirt

4) -tron rod Mirror -
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13, MrLim sets up an experiment as shown below to. find out the strength of
different types of paper. - paper

string ’% |
. plastic container — ] | — —— Wooden stand

The number of coins the plastic container could hold béfore the papertore
was recorded in the table below.

Type of paper ~ | Number of coins
Tissue paper ' 1
| Art paper _ 10.
Newspaper 4
. | Waxed paper 1 8

‘Based on the above results, which type of paper is the strongest?
- (1)  Artpaper e . :
(2)  Newspaper
(3)  Tissué paper
(4) Waxed paper
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14.  William wanted to compare the hardness of four objects, A, B, C and D.

_ He tested them by scratching them with rulers of different materials.
After the experiment, he concluded that object B is the hardest, followed

by A, C and D.
Which one of the following is the most likely observation that he had
made?
(1) '_(2) ’
- | The tick (v} indicates the Thetick {(¥) indicates the
presence of scratch marks 1l presence of scratch marks
Obijects | made by the rulers. || Objects | made by the rulers.
Plastic | Wooden | Metal Plastic | Wooden { Metal
- ruler ruler ruter ') . ruler | | ruler ruler
; x 7 7 A - 7 v
B v g v B 7 v —7
C. v C v
D D v
16 )
“The tick (v) indicates the " The tick () indicatés the
: - presence of scratch marks - .. {presence of scratch marks
Objects | made by the rulers. Objects | made by the rulers.
Piastic | Wooden Metal Plastic | ‘Wooden | Metal
_ruler ruler ruler ruler | - ruler. ruler
A v A o v
B B v v
C 7 7 c 7 7 v
D 7 7 v D 7 7 7

CHISCIPAISA2/2010




16, In which of the following will two of the magnets push each other away? -

(1 N s ||N S
@ Is|iNn s

NI
®) s10s

In ||
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16. Vivian conducted an experiment as shown below. She lowered the bar.
magnet info a tray of staples and recorded the number of staples attracted
to the magnet at different positions, W, X,Yand Z.

Bar magnet ————{ ¥~ ]
bW o X Y z’g_

Her most likely aim was to find out whether the -

(1)  type of magnet affects the number of staples attracted

(2) number of:staples affects the magnetism of the bar magnet )

(3) . parts on-a magnet affects the number of staples it can attract

(4 distance between the magnet and staples affects the ,—r{u_mber' of
staples the bar magnet can attract A 2 '
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17. A compass is brought near a freely-moving magnet. The diagram below
shows the magnet after it has come to rest. . a
Which of the following diagrams best represents the compass?

N.

Freely moving 'mag_net

) .

@ T @
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18. Fou:; bar magnets with their ends marked A toff %/a'n be arranged in the
matiiner shown below. - - : o

y -.?_B- ” -

ci Gi .

lo ' H

H

' Which one of the following diagrams shows a possible arrangement of two
of the magnets? ‘

® — - @ [ A
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19.  Study the diagrams below carefully. . .
Three objects were placed on a lever balance to compare their masses

fs) o

"

SRy
7

Based on the diagram above, which one of the foliowing statements is true?

(1) Object A has the greatest mass.
2) Object C has the greatest mass. A
(3) Objects B and C have the same mass.
- (4) Itis not possible to tell which object has the greatest mass.

20. Observe and bompare the following syringes.

oil  Tabletop

Which of the two plungers cannot be pushed inwérds the furthest?

(1) PandQ
(@ QandR
(3) RandS

4) SandQ
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21.  Matter is anything that has mass and occupies space.
Which one of the following is not a maiter?

(1) air

2y sail

(3) water
(4) shadow

22.  Study the diagram below carefully.

Which one of the following is the correct volume of object B2

N¢) 15 cm®
(2) 20cm®
@By 25cm?®
" {4) 30 cm® ' o -
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23.  Peter shone a torch on a'ball to cast a shadow on the-wall as shown in the
- diagram below. -

]

shadow

forch

N

ball

L

“The torch was placed at four different positionis, A, B, C and D. The

. following table shows the diameter of the shadows produced at each

~ position. .
._Position -~ | " Diameter of shadow / cm:
A o 4
B , 9 -
C . 6. .
D 1

At-whic_h position, A, B, C or D, was the forch nearest to the ball?

1) - A
2 B
() ¢
@ D
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24.

The diagram below shows the shadow of an object formed on-a screen

when a torch light is shone at it.

No shadow =

Lighter
shadow

~ Darker
shadow N

Which one of the following correctly shows thé materials that make up the

object?

: Cardboard

Cardboeard
Métal

Tracing paper

Clear gldss

CHISCIPAISA212010
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@
Cardboard

Wood

Hollow

Tracing paper

Metal



25.  Two pieces of cardboard a circle and a square are pasted onhe on top of
the other.

10 cm

diameter

- ' n +——— 10 cm—

They are then placed between a torch and a screen as shown
-Below. The diagrams are not drawn to scale.

torch.

: - Y} cardboards
=1 —

Which one of the following shadows is most likely to be formed?

[ON @

3) (4)
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26. Louis wants to carry out an experiment to find out how different types of
liquids affect the amount of light passing through it. He sets up the
experiment as shown in the diagram below.

_Jr' L3 ¥ .
Torch - _ 1

Glass beaker

T T

Liqud = ——f

Light detector ————— gl /\ {1 Datalogger

Which one of the following variables -irp;as-chénged in thi_s .ékpériment?
{(1). Type of liquid
{2) Intensity of light

{3) Type of glass beaker
.{4) _ Distance of forch from the surface of the liquid

7. . .. Study the diagram below carefully.

cork Stbpper

‘When an empty bottle is put near ‘a fit re the cork stopper pops out
because "~ : .

' ‘(1') “the air in the bottie warms up and, expands

- (2) the air in ‘the botfle cools down' ahd’ contracts -
(3) the glass of the boftle warms up and expands
(4) the glass of the bottle coo[s down and oontracts
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28. Abby placed a cube of ice into a glass of hot water,

Ice cube

, —~ Hot water
beaker _ |

Which one of"the"folloWing_statements is correct?

(1
(2)
(3)
“@

The ice cube loses heat to hot water.

The ice cube does notlose or gain heat.
The hotwater {oses heat to the ice cube.
The hot water gains heat from the ice cube.

29. Meiling set up an expeiiment as shown in the dia

expansion of water

grarﬁ“belbw to study the

! A L Water ievelfalls .. ‘Wa"tér !evél ‘
Y Water level f ‘l? _initially *: f rises
—— Glass tube 4 B Glass tube e
x| Troughs with hot
/_;- M water

| §té;51 -'St-epIZI ' Step

3

She observes that when the glass ﬂask isputina trough of hiot water, the

. water level drops t" rst before nsmg This is because

(1)
@
(3
(4)

water contracts before expandlng

some water in the glass tube evaporates '

the glass flask expands before the water expands -
some water from the glass flask leaks into the trough

CHISCIP4£SA2f201 o




30. Five similar rods, D, E, F, G and H, made of different mat_eriaié are heated

separately in the experiment as shown below.

Candle wax

_ Rod Retort stand
Bunsen burner )

N

1.4

The time taken for the candle wax to melt cor_npletély is recorded as
shown in the table below.

Rod Time taken /s
D ' 57
E 74
F 3N
G 46
H 28

Which one of the following shows the arrangement of the rods;-acéb‘rding
to how well they.conduct heat, starting with the one that conducts heat the
slowest? ‘

(1) H,F,E,DandG
E

2) ,G,D,FandH
(3)  H,G F,EandD
4 E.,D,G,Fand H
-END QF SECTION A -
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Section B: Open-Ended Questions (40 maris)

Read the fOIIowing q_uéstions carefully and write your aniswers in the space
provided. The maximum marks that'can'be-awarded is shown at the end of
each question or part-question. , '

b

31. Deon observed and grou;aé{_if;s‘{ofh‘e :-]ﬁritjgi frﬁngs as-shown in the table

below. L . : .
I . : 1
! ' ' _-]
G H_
csnail ... . tree
grasshopper S grass

What are the suitable headings for G:and H?

Group G: | )]
Group H: IR
2
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132.° - Gerard sets’up:an experimeiit using a balsam plant as shown in the set-up
- below:. o S -

“Balsam’
plant
Beaker A - be?kéf E Béaker B
(a) Whatwas the likely aim of the experirmnent? M
(b) Why was'l;eaker B included in the expeﬁment? [1] X
. :
() Drawin the new water and oil level in Beaker A afier 2 weeks. [1]

- Ol
. Water
% ML ... Glass

Beaker A b@?ker

4

. Beaker8
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-{d) -Gerard read-an article about:a.new kind of balsam- plant that fakes. .
up four times as much water as the balsam plant he used in.his
experiment.

If he sets up a new experiment using the new Balsam plant and if
thé claim.in the article is true, explain what Gerard would observe

[

N
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33.  Scientists recently discovered a new species of-animal and wanted to find -
out more ab_'out its digestive system. Four of the animals were fed, each
with one type of food, W, X, Y'and Z.

Different parts of the animals’ digestive éy'stemé, A, B, Cand D, were
_checked to see if the food were digested. The results were plotted inthe

graph below.
A
1001 | . Food X
% TTITIR %
Undigested - : N : ‘
food : ; [ od 7
‘ Nty FOOd Z
: N N
: AN
_— \: Food W o A
0 ' — = ‘ " Food Y
A B C D

Paris of a digestive system

(8)  Which part of the animal's digestive systém did digestion of
Food Z begin? . ; [}

(b) Suggest one improvemeni.to the experiment so that the results
obtained would be reliable. !

CH/SCPAISA2/2010



34.  The diagram below shows:two plants.. -

Ve

stem

PlantA. . . Plant B

en the stem of Plant A and the stem of

@  Whatis the difference betwe
, . 1]

. Plant B?

_inthelight.  [1]

(b)  The leaves help both plants make
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35" D‘aisy» sefs up an experiment as shown below. ..

Container —=—

‘ 71 Siice of bread
| Slice of apple . -

Meaiworm P

‘Daisy Keeps the contamer in @ warm place away. from sunhght She

.. oObserves the mealworms regularly After a few days Dalsy ﬁnds pleces of
skir in the container. A few days later, she sees new p:eces of skin in the
container. This happens one more time. A few weeks later, the
mealworms disappear and she sees beetles'in the container.

(@  Why does Daisy put bread and apple slices in-the container?  [1]

(b) Where do the pieces of skin come fom? 11

(c) A net, instead of a metal or plastic lid, is used to cover the
- container. Why? m

CHISCP4ISAZI201(



36.

John wanted to find out which-tvpe of cloth: absorbs:the most amoiint of -
water. He carried out the experiment with 4 types of cloth, A, B, C and D.
He weighed a piece of: thesdryzcloth. He then placed the cloth completely

in the same amount’ efw fook the wet cloth out of the pail and
weighed it. The table Helow WS hIS observatlons

Cloth W’eig'ht of dry cloth I-'g | Weight of wetcloth /g’
e e

B 5 | 55

c 7T R 60

D T -liz--'t__'. R A -

(a) _ In order to have a falr test whlch two vanab!es does he need to

keep thesame’? ’ L L I

(b). Based on John s results, whlch type of cloth is most suitable for
wiping. plates dry? Give a- reason for your answer. [2]
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37.  Aniron nail can be magnetised by electricity when it-is ptaced in-a coil of
wire: Kim wanted to find-out how the thickness of the wire coiled around
the nail can affect the strength of the electromagnet. She prepared the
set—up as shown below. .. :

(@)

" (b)

{©)

| CHISCIP4/SA212010

20 turns of fhin -}
.. copperwire- ..

Using the North pole ‘ofa bar magnet how can she prove that the

_.,nail is now an electromagnet‘? : 1l

In order for her-eXperiment o be a fair one, shedecided to have
another set-up. Which of the following variables should she change
and which are the ones she should keep the same?’

Complete the table by putting a tick () in the cormect boxes. 2}

Variables Keepthe | Change
— Same.

Number of batteries

| Thickness of the wire used

Material that the w:re is made
of

| Number of turns of wire

around the nail

Kim conducted another experiment. She coiled the wire around a
glass rod and connected the wire to the ends of the two batteries.
She brought the glass rod near some paperclip.

Would the paperclip be attracted to the glass rod? Explain your
answer, 21




38. .The'diagram below showsia b

- ‘Complete the sentencéé 'to's't_

ottle of.cookingoil::

é;ti_a' if .,th'e” parts are solid, liquid or gas.

- (@  The coveris

aun

() Oilisa
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39. . -John poured. 50ml:of water inte-each. measuring eylinder. He.lowered an -
- iron-ball-into-cylinder: A untilitis fully:submerged:but not touching:the
bottom of the cylinder. He repeated the same action'with a plastic bali.
Both iron and plastic balls have the same shape and size.

Iron ball |

Cylinder A*

1

—

o f
o .
—_

He recorded the water levels in the table 'belo'w.r

Plastic
ball

1 50ml

Cylindei’B -

Water level / ml
Before the ball was | Afier the ball was put
. put inside inside
Cylinder A 50 3 - 70
Cylinder B 50° (a)

(@) . What will be the water level in -'cylinder B after the balf was completely
submerged? Complete the table above with your answer. : {1]

(b) He lowered the iron ball until it touched the bottom of Cylinder A. Would
‘ the water level be higher_, lower or remain.the same? o B 1]

| (c) Which property of the iron and plastic balls is tested in the above

experiment?

Ny
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40.  The:experiment below:was carried outin a dark room:’ Light from a’bulb " -
‘was:shione’'on object X; .anopaque cylinder.. The shadow formed on the
ssereenissshown: . oo T o

Cardboard with

’/ a small hole

- Object X Light bulb

‘Shadow formed on
" the screen
(front view)

Screen
(side view)

Object X is now replaced by object Y as shown below.

e e e ——

Cardboard with
a small hole

Object Y B
S Lightbulb

e e e’ b

(a) Draw the shadow formed on: the screen. - ‘ _ 1

(b) Whatis the property of light that resuits in the formation of a

shadow? (1]
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41:. - Joel placed-his hand in front of a projector.as.shiown in the following set-

up.

P}O_jé ctor $creen

(@  Why was the shadow of Joef's hand cast on the scfeen?

) |

(b) . Whatis the relationship betweer the size of the shadow and the

distance between the object and light source? 11

(c) Joel placed a blue ﬁlastic ball in front of the pfdjector. -|
What wili be the colour of the shadow of the ball? .‘[1}.

3
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42, In:an experiment, 20 ice-ctibes.were heated in each of the.containers as .

shown below.

The table below stiows the- results of the experlment

(@) From the results above exp!a;n which material al[owed the ice -

 Material Number of Time taken for
candles all the |ce-cubes_
to melt
._completely
X 4min20s
Y T 2min45s
Z 1 Smin 5 s

‘cubes to melt the fastest’? 1
(b) Which material would you choose to make an ice-box that can -
prevent ice from meitlng‘? e [1]
(») Explain'your choice in part (b). ' {1]
3
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43. . -Thediagram below shows.an empty flask with-a t-shape tube. There are

. two dreps.ofink in the tube: X represents the:distance between the two
drops of ink. T Pt

' - . T-shape

B T tub

ik drop

(@  The empty flask was immersed:into a trough filled with ice for 10
’ minutes. Explain the change in X. _ _ [1}

(b)  Give an explanation for your answer in part (a). = [1]

{c) Whatwill happen to the distance between the ink dmpé whenthe.
empty flask is placed into a trough of hot water? _ (1]

CHISCIP4/SA212010



In another _s.eriésrqf ‘experiment;:20 ice cubes were completely melted in- .

container X using differen of.
the experiment is provided in the tablé below.

' ..';_.‘ Material

Number of candles

- .| ali the ice-cubes

"Time taken for-

. tomelt

s X 1 - 4Min 20 s
X 2 3 mip 25s
X 3 2min 37 s

(d)  Whatis the relationship between the num

taken for the.ice-cubes to melt completely?

tnumberof candles: The time taken foreach of

L

ber of candles and the time

g
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44, The diagram below shows a frying pan.

Plastic handle

Metal pan

(a) The handle is made of plastic because itis a
. conductor of heat. _ - (1]

(b)  The pan is made of metal because metalis a
conductor-of heat. ' . 11

-END OF PAPER-
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Answer

1/ ~.
EXAM PAPER 2010

SCHOOL : CATHOLIC HIGH PRIMARY
SUBJECT : PRIMARY 4 SCIENCE

TERM : SA2

01 [02] 03 | 04 '.-QS Q6 | Q7 [ Q8 [ Q9 [oio]Q11]Q12] Q13 Q14 015 016 | Qi7

2| 311272l 2lal|l3|l1]la]l1]21113]|3]|3]1

Q1810Q191Q201Q21 [0Q22 | Q23 | 024 | Q25| Q26 | Q27 | 028 [ Q29 | Q30

4 { 4 3 4 4 4 3 4 1 1 3 3 4

31)G: Animals " H: Plants.

32)a)It is to find out whether pants absorb water. '
b)To show that any water loss is due only to the balsam plant.

>

d)The water level in Beaker B would drop four times as much as the water level in
Beaker A.

33)a)C.
b)Use the same type of food.

34)a)A is taller thaﬁ B.
b)food.

35)a)The bread is food the mealworms and the slice of apple provides water for the
mealworms. '

b)From the mealworm. :

c)The not allows air to enter the container so that the mealworm can breathe.

36)a)The time taken to soak the cloth and the size of cloth used.
b)Cloth D is most suitable. It is the most absorbent.
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Answer Key


37)a)Bring the North pole of the bar magnet to each end of the nail. One end should
attract while the other repel the magnet.
b)Keep the same
Change
Keep the same
Keep the same
c)No, glass is a non-magnetic material, so it cannot be magnetised.

38)a)solid.
b)liquid.

39)a)70
b)The water level would remain the same.
c)Solid has a definite volume.

b)Light travels in a straight line.

41)a)loel's hand is opaque.
b)The shorter the distance between the object and the light source, the bigger
the shadow.
" c)Black.

42)a)Material Y. Because the time taken for all the ice-cubes to melt completely is
the shortest.

b)Material Z.

c)Material Z is the poorest conductor of heat.

d)The greater the number of candles, the shorter the time taken for the ice-cubes
to melt completely.

43)a)X become shorter as the ink drops moved towards each other-

b)When the flask is immersed into a trough filled with ice, the air in the empty
flask contracts when cooled.

c)The distance between the ink drops will increase.

44)a)bad
b)good
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